Amputation/Loss of Use Diagram Claim number

Right Hand Posterior (Dorsal) View

Injured worker name

ORC 4123.57 (B)

The loss of distal
phalanx is equal to

loss of one third of |

any finger.

The loss of distal

phalanx of the Thumb

of thumb.

thumb is equal to | { N _
loss of one half %y Distal
P

The loss of more than
one half of the thumb
is equal to loss of
whole thumb.*

Physician: Mark exact point of amputation by a single line, mark
ankylosis by circling affected joint. Initial all markings.

| certify the information | have provided is truthful and correct.
Applicant signature Date

Middle

The loss of the middle phalanx
of any finger is equal to loss of
two thirds of the finger.

7

Little

The loss of more than
the middle and distal
phalanx of any finger
" is equal to loss of
whole finger.

For loss of metacarpal
bone of thumb or fingers,
| add 10 weeks to the
number of weeks.

Metacarpal
For BWC use only
Part of body V3
Thumb (1% finger) 60 weeks
1/2 loss 30 weeks

*State ex rel Riter v. IC: Ankylosis at the IP joint
of the thumb = 1/2 loss of use of the thumb.
(See BWC Policy)

Index finger (2" finger) 35 weeks
2/3 loss =23 1/3 weeks 23 weeks and 2 days
1/3loss =11 2/3weeks 11 weeks and 4 days
Middle finger (3" finger) 30 weeks
2/3 loss 20 weeks
1/3 loss 10 weeks
Ring finger (4" finger) 20 weeks
2/3loss=131/3weeks 13 weeks and 2 days

1/3 loss = 6 2/3 weeks 6 weeks and 4 days

Little finger (5" finger) 15 weeks
2/3 loss 10 weeks
1/3 loss 5 weeks

See reverse for
left hand

e

See current Compensation rate chart for additional loss of use awards.
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The loss of the middle phalanx
of any finger is equal to loss of
two thirds of the finger.
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Little

The loss of more than
the middle and distal
phalanx of any finger _
is equal to loss of
whole finger.

For loss of metacarpal
bone of thumb or
fingers, add 10 weeks
to the number of
weeks.

See reverse for
right hand
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See current Compensation rate chart for additional loss of use awards.
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Injured worker name Claim number

Physician: Mark exact point of amputation by a single line, mark
ankylosis by circling affected joint. Initial all markings.

| certify the information | have provided is truthful and correct.
Applicant signature Date

~ Middle

The loss of distal

__phalanxis equal to
loss of one third of
any finger.

The loss of
distal phalanx

__of the thumb is
equal to loss
of one half of
thumb.

The loss of more
than one half

of the thumb is
equal to loss of
whole thumb.*

—— Metacarpal
For BWC use only
Part of body V3
Thumb (1+ finger) 60 weeks
1/2 loss 30 weeks

*State ex rel Riter v. IC: Ankylosis at the IP joint
of the thumb = 1/2 loss of use of the thumb.
(See BWC Policy)

Index finger (2 finger)
2/3 loss =23 1/3 weeks
1/3 loss = 11 2/3 weeks

Middle finger (3 finger) 30 weeks
2/3 loss 20 weeks
1/3 loss 10 weeks

35 weeks
23 weeks and 2 days
11 weeks and 4 days

20 weeks
13 weeks and 2 days
6 weeks and 4 days

Ring finger (4" finger)
2/3 loss = 13 1/3 weeks
1/3 loss = 6 2/3 weeks

Little finger (5 finger) 15 weeks
2/3 loss 10 weeks
1/3 loss 5 weeks

Reproduced with permission: Putz R./Pabst, R.: Sobotta, Atlas der Anatomie des
Menschen, 21. Auflage 2000 © Elsevier GMBH, Urban & Fischer Verlag



